MA123, Chapter 8: Extreme values, Mean Value Theorem, Curve sketching, and Concavity

e Apply the Extreme Value Theorem to find the global extrema for continuous func-
tion on closed and bounded interval.
e Understand the connection between critical points and local extreme values.

Chapter Goals:

e Understand the relationship between the sign of the derivative and the intervals
on which a function is increasing and on which it is decreasing.

e Understand the statement and consequences of the Mean Value Theorem.
e Understand how the derivative can help you sketch the graph of a function.

e Understand how to use the derivative to find the global extreme values
(if any) of a continuous function over an unbounded interval.

e Understand the connection between the sign of the second derivative of a function
and the concavities of the graph of the function.

e Understand the meaning of inflection points and how to locate them.

Assignments: Assignment 12 Assignment 13
Assignment 14 Assignment 15

Finding the largest profit, or the smallest possible cost, or the shortest possible time for performing a given
procedure or task, or figuring out how to perform a task most productively under a given budget and time
schedule are some examples of practical real-world applications of Calculus. The basic mathematical question
underlying such applied problems is how to find (if they exist) the largest or smallest values of a given function

on a given interval. This procedure depends on the nature of the interval.

» |Global (or absolute) extreme values:| The largest value a function (possibly) attains on an interval

is called its global (or absolute) maximum value. The smallest value a function (possibly) attains on an
interval is called its global (or absolute) minimum value. Both maximum and minimum values (if they

exist) are called global (or absolute) extreme values.

Example 1(a): Example 1(b): Example 1(c):
Find the maximum and minimum Find the maximum and minimum Find the maximum and minimum
values for the function values for the function values for the function

flz) = (z—-1)* -3, f(x) = —|x — 2|+ 3, flz) = 2% +1, z € [—1,2]
if they exist. if they exist. if they exist.

-----------------------------

.............

et

=D is the absolute Minimuny D 15 “he absolute maximum 5 is €he absolute maximum volue

Value Gnd £his oceurs of x=| Vedue and €his occurs o x=2. g4 £his occurs at X=X
61

Mo dhsolude moximant yalue No ahsolude minimem  Vvalue

| Ts +he absolube minimem Volue
and €his occurs af x=0
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We first focus on continuous functions on a closed and bounded interval. The question of largest and smallest
values of a continuous function f on an interval that is not closed and bounded requires us to pay more attention

to the behavior of the graph of f, and specifically to where the graph is rising and where it is falling.

Closed and bounded intervals:

An interval is closed and bounded if it has finite length and contains its endpoints.

For example, the interval [—2,5] is closed and bounded.

» The Extreme Value Theorem (EVT):

If a function f is continuous on a closed, bounded interval [a,b], then the function f attains a maximum and a

minimum value on [a, b|.

24+ /x if z >0
24— if z < 0.

Does f(z) have a maximum and a minimum value on [-3,4|? How
does this example illustrate the Extreme Value Theorem?

Or\ [-3,"}] ;(x] ‘(\c\g an abso|u+e_ Max i imaum O]C Lf o+
X=4 and an absolute Minimunc OF& ct x=0.

/UOEQ‘. [‘S,qj 15 7% CIOS:C‘) QY\CJ bOLAY\C;Ed Ilf\ftvucxl ar\c}

Example 2(a):| Let f(z) = {

From £he greph one sees €hat jf 's Continuous on €his —q?"‘?—’ ..... BRI -
(n{chc[; —éhcrt};re 3 ‘D 'é“ﬂe EVT 7E YV\US_'l‘ hcu:. Gn ahSOIWR. ~ .................... e it deccedercadanand
WaXinnoew cingd Miniwivws. On E-S,‘{l - Y n?

1 o T
Example 2(b):| Let g(z) = —. Does g(z) have a maximum value I S T
x

and a minimum value on [—2,3|? Does this example contradict the
Extreme Value Theorem? Why or why not?

On E‘o?, 3] ’S(Y\ CJOQS Mot haue an ObSOIU\LQ

Mok imawm or minimuwl uolue. Howeuer) £his does

Mot contradict €he E\/T because. 3(*) IS /\]“cré continuous

N [C-2,3\ Since A0 s s continamans (gnc)eymec)j
Gt x=o0e[-273),

Example 2(c):| Let h(z) = z* — 222 + 1. Does h(z) have a

maximum value and a minimum value on (—1.25,1.5)7 Does this
example contradict the Extreme Value Theorem? Why or why not?

On (-|'2§_)\'3—j h(><) hGS an Qbsolu&e M Nivaw vl
O7E O ct X=-1 cnd x = | Showeuaf, hix) has

AJO O\ESO‘LAQ mMaximuLy., on €his intevuval . 1 his

CJO&S Not Contradict &he VT because (‘I.J_C,I,S’)é
1S Mot o closed Intevual. '

62
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The EVT is an existence statement: it doesn’t tell you how to locate the maximum and minimum values of f.

The following results tell you how to narrow down the list of possible points on the given interval where the
function f might have an extreme value to (usually) just a few possibilities. You can then evaluate f at these

few possibilities, and pick out the smallest and largest value.

» | Fermat’s Theorem:| Let f(z) be a continuous function on the interval [a,b]. If f has an extreme value

at a point ¢ strictly between a and b, and if f is differentiable at x = ¢, then f'(¢) = 0.

» |Corollary:| Let f(z) be a continuous function on the closed, bounded interval [a,b]. If f has an extreme

value at z = ¢ in the interval, then either
e c=aorc=>b
e a<c<band f'(c) = 0;

e a<c<band fisnot differentiable at x = ¢, so that f’ is not defined at z = .
Cor\é\r\uOuS cng C) )C‘,(\ yené.abl& eU?\f‘jU\ﬂe(e
Example 3:| Find the maximum and minimum values of f (z) = 2% =322 =92 +5 on the interval [0, 4].

For which values z are the maximum and minimum values attained? Min @ x= 3 {L Max @& x = O

7[()(]: AR x - c)c)('.mc] To find max/min values en [0, 4]} Mo check Notation

, GVeBwkere ® LT\C]’PQ”\-LS X=0 é X = flT [/U| f\
MNeed £o Solue O = -Gx - X In he
=) S x 9 ‘ (O "'D Whet e 7E(X)—O) X= 3 (wote- l»s,udé n (o'q)>
O= X -2x -3 X (O’% Where /) DN E , wone
7f/ol -3(0) -9 (c) + Sl absolufc ™ Qbso\k:? o mimen,
Q= (><-3) (X + l) 75( pae (o) +SS__.{_&} Valug <! Mum 4
X—3=C ov Xx+4|-= 3 3 ‘3 ’ —Q(s] < 93*5"-;2?}4-3— I‘QQ\S
- N 2 1
Example 4:| Find the maximum and minimum values of F(s) = ot on the interval [—-1,5]. For

whlch values s are the maximum and minimum values attained?

l_(s)_ (s- C:)(;’l —Gjasn)(l) To 7fch Mox/min values on C-1,5) most check
s

12’5 = —&s—l
(s-6)% " xin (-,5) where Fs) =0, vowhere

(;1-363'1 ¢— ~ever ZCIOO o (_I'S-) where o) :D/\”_: vo where (poge G ¢ ( 15_>>
U“dcfihcd at X=(

* EnJPoersj S = -1 |£'S~‘ S

a(l -2l -
(-1 =R ] '—\
/\Jcluf;r-zcro Min @5s =5 { i \ G A Y G\DSOIU+€- @Zﬂrum
Mox (2P 5= - | ( _ é?(ﬁ')” [0 +) —
3 )= = —— = 1 _|-
(5 C.) F ) S -G 5S-G ol ‘lﬂé_ QbSolufc M (nimom
=13 =C) (S-C)z \’OIL"‘L

“B=06 Jse Fls)to
Example 5:| Find the maximum and minimum values of  f(z) = 2*®  on the interval [~1,8]. For which

values s are the maximum and minimum values attained?

- | i
7(I(x]= %x a oL To find max/min values on [-1,3] must check

3
/\) ﬁ 3\/X s Er\J'POl.f\“Sf X= —| ancJ M= g .
cuer €er0 . / I @ x-o
- X -1,% w h B
_ : ' - | o - N
Aever 2ero  <°° ﬂ her ;CX) DANE, x=0

Q 7E( __3(” = | Gn() 7[(?): “ (ZJ - 2 H‘

76507[ 7f(o1 523 /5763
(x40 =0 2=/t 35 =0 |é— Absolut
62 O - (3 3/_) ! ’ r{/hnuumivv’\ ?nbéﬁ{‘?ﬁﬁm
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Example 6:| Find the ¢t values on the interval [—10,10] where g¢(t) = |t —4|+ 7 takes its maximum and

minimum values. What are the maximum and minimum values? (Geornetricall one Sees <hat
2 v 5/”5) Nnas G‘v’\%b50|u41 Oan s e\
. cline O7C F and €his ©Occurs a+
(qlq_\ X o MOreou-r) “ h e ﬁra‘Ph OJ:
%/f] Showy Ehe cbsolu#—c M N\ A

Velee on [~1o,12] Mus+ occur
S { { > A€ OV\LOJ:tLL EnoJTDoi/\*fs Xf_c)lo

A=l n=1£ -] 5/-4)=|{-—‘1[+:|- Qo) =1 -to-4[+3 = )-14] + T
= [H+F =2l |ga— abs O Masbe
%(IC)\=IIO'—L{[—+Q-:,C=|4:;_
P = 6 FF =13
2r + 1 if 2 <1
Example 7:| Find the maximum and minimum values of k(z) = e o ~on the
-3+ 7 ifr>1—— |

<7E X | ! and Max/min on [, 3] Mus£ Cl"\ECk f:‘.%;;J ;ﬂ/‘ﬂ:"".jl

interval [—2, 3].

NMote 7£(>< 2/0_?¥+a

flL_4[|

® LnCJPO‘Yr(S ;) X—= = CiY\cJ X =3 Al O K [ _4—,|'

F XDl = Xin ((23) where d/X)=0, x= -1 "9 Guestionel
. X - ohere Al DNE. x= 2T X= 11 howeven
at x= | £ (x) is uv\c’ fmcc} bece,use m (R, 3)| o Z )L X \q] im By e g
( x)=0 when ~>1 .. 7 = A0
% ‘M 4([ +h\ {(l l{(( = | +2([){_| A 50, oe o A o f
(1= 5 =142+ Ax+220 50 x= -| xSl = 4= M -3 x4
| 4 / 2 =4 XX =~ y =t 2 (1l — 1 .
W ’/l'J“‘,_ M'J: lim ‘HI +L<Ll+r|+la 9_ 4 774 | 1) /-é HH /43'1 _'-"‘f"' S & — =7 5
h=0" N h->0 = |m_._/u h-o' a\

| \

Example 8:| Find the maximum and minimum values of g(z) = 1+ 2 4+ 2?2 + 2%  on the interval [0, 2].

F01 which values x are the maximum and minimum values attained? ~ondinwous eue f:jcd here

\ 5 lath |+o?>< e TO 7[\'“6J Mex/min on Lo a:\ nMust check
DQJ:\W:CJ E’Ueiujbdhf’rc V\C)Pc’lnfs
/Uc‘fcjécjolue O=1+2x 1_3)(?_

)X:OC\V\CJX—Q Min @)(:O

" A {
X i (0,2) where 3 (k):o) Ao where WMax @ x =2
lecrimir\an{'Z ll‘q(ﬂ/” e x in(0) where SI(X)DA/E MNowheye
- ‘-l-llz 'Y(O

oY= 140 +to%+06° =[] | e— Gbseluke Mminime
S50 AJo feal So|u+\‘or\ 3 3 I_\ Value "
So 6‘(’() IS Neuer €e(0 %(‘Q = 14 'Z+Z TCT =1tz 948 —' IG—C«[D.SOL“H:

MGXlMum

» Local (or relative) extreme points:| Inaddition to the points where a function mlgflt have a maximum

or minimum value, there are other points that are important for the behavior of the function and the shape of

its graph.
global max

N l If you think of the graph of the func-
local max tion as the profile of a landscape, the
global maximum could represent the
highest hill in the landscape, while the
minimum could represent the deepest
local max valley.
The other points indicated in the
local min graph, which look like tops of hills (al-

X%% | though not the highest hills) and bot-

local max

local min

T tom of valleys (although not the deep-
(-2)= (- 02)2 +2(- ‘Q} ¢ = u eét valleys), are called local (or rela-
- ( 2 1 tive) extreme values.
(1) - . I) Fel (")+ =0 global min
A( - +Z{[)‘f‘ | = é‘abSOIU\"‘Q
3 - M aximouw .
3(3J+4_ jkobsowc 64
Ny pumn
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Definition: | A function f has a local (or relative) maximum at a point (¢, f(c¢)) if there is some interval

about ¢ such that f(c¢) > f(x) for all z in that interval. A function f has a local (or relative) minimum

at a point (¢, f(c)) if there is some interval about ¢ such that f(¢) < f(z) for all # in that interval.

Theorem: | If f has a local extreme value at (¢, f(¢)) and is differentiable at that point ¢, then f/(¢) =0

Critical points:| Let f be a function. If f is defined at the point z = ¢ and either f'(¢) = 0 or f'(c) is

undefined then the point (c, f(c)) is called a critical point of f. If f'(¢) = 0 or f'(¢) is undefined then

cis called a critical value.

» | Increasing and decreasing functions: A function f is said to be increasing when its graph rises and

decreasing when its graph falls. More precisely, we say that:

f is increasing on an interval [ if
f(z1) < f(xz2) whenever z; < x5 in I.

f is decreasing on an interval [ if
f(z1) > f(x2) whenever xy < x5 in I.
Y, Yy

f

f(zy)

f(z2)

: : - : : -
0 Iy €2 0 T T9

f is increasing f is decreasing

Example 9: | The picture shows the graph of y = f(x).

(a) Find the intervals on which f(z) is increasing and de-
creasing.

le‘j ir\crmsﬂon: (Ozl\ U(CQ/OO)
j[l'j CJGC(GaSina an (‘OOIC’)U(“&)

(b) Find the intervals on which the tangent line to f(z) has
positive slope, and the intervals on which the tangent
line has negative slope.

/Pos\'élve S\oPQ on (0,1 U(CQ'CD)
/\)Cﬁg:r‘*iuc S\ope one (-a0,0) U(I,SL)
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f is increasing on [a, b] and [¢,d]
f is decreasing on [b, ¢].

--------------------------------------------
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Example 10:| Suppose that f(—1.5) =12 and f(2) = 1. In addition, you are given that f(z) continuous

everywhere, is increasing on the intervals (—oo, — 1.5] U @, oc) and f(z) is decreaqmg on the interval [ 2}
Which of the following are not possible? 2 € (R, —j‘ and 02 <3 ot

— . = e

Mefeasine So -f—(‘;g < R ¢
Ok () f(-2)=7 QMete 2ECET False (o f=-1 T R ¥ D
and "2 <Y s, I “

) £
(b) f(-2) =11 Ok (f) f4) =6 ye [;oﬁ and TR
OK 7C(=2 ) < F(-19)=12 < [ lffaKf/q)
l_q l<e (¢) f(—=1)=13 v\ Z}Orl\du(enu [:Q(SC_ (g) f(&) = andhf( )— 4 “a g
False @ 1@ =0 771 Derd ok ) <z =g

-

- .5 <50 7C(-|.3 )7[}_ le2 a0\ oy

>_' '::_ |< | | B A M ] ) ::‘-' ,,;' - l V _ o o |

<, ; o l Z '5‘ FCI ISQ_ | -— _,'..I-'.'.".,. ‘ ll A."v.,j.:'-i" ~> ~ |' e ,"' |".. )
In gene1 al u%lng the algebralc definition of increasing/decreasing to verify that a function is increasing and
decreasing can be difficult. However, example 9 suggests an easier method for checking where a function is

increasing or decreasing:
e If f(x) is increasing then f'(z) > 0; o If f(x) is decreasing then f'(z) < 0.

We would like to be able to reverse these implications, but doing so will require some additional theory.

» [ The Mean Value Theorem (MVT): If f is continuous on [a,b] and differentiable at every point

strictly between a and b, then there exists some point & = ¢ (and maybe more than one) strictly between a and

b such that
f(b) — f(a)
b—a

= 10

Geometric interpretation of the MVT: For some (non-necessarily unique) point ¢ between a and b

the tangent line to the graph of f at P(ec, f(¢)) has the same slope as the secant line connecting the points
A(a, f(a)) and B(b, f(b)) on the graph of f.

U 4
y

A rewording of the MVT:

If f is continuous on [a,b] and differentiable at every point strictly between a and b, then there exists some

point z = ¢ (and maybe more than one) strictly between a and b such that

the average rate of change the instantaneous rate of change

of f on [a,b] - of fatx=c.
Example 11:| Let Q(t) =t?. Find a value A # 1 such that the average rate of change of Q(t) from 1

to A equals the instantaneous rate of change of Q(t) at ¢ = 2.

®/6J2f2 AUEQQ/ROéQ O‘F A - z
The instenfancous Ch;nﬂe of A QZE |6m>: AA—_(I :—-@.‘_‘?(ﬁ);

@/(6]:0?_6 L/I'a‘l'e r:rf le\omj-z On [| /4]
/ O]F A ot *X=R
S
@(&} :o?'c?: Cf 66 O Ofne L,ocmés Ai_lz—Ll{ XAZS J
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e Confinnous cnd C)l'H‘CfE’V\{GHe on R 56 7{is confinuous on [-2,0) and d:ﬁw

Example 12:| Let f(z) =z —a%.  Verify that the function satisfies the hypotheses of the Mean Value °n (-2,0)

Theorem on the interval [—2, 0]. Then find all numbers ¢ that satisfy the conclusion of the Mean value Theorem.

7(\(/ X ] - I - 3 b Y . \ —"“ dL OV \€ Nce C ' ) -'_ S0 . JE 1'_— IA'"._ e 2 ‘I L :‘;' o ANES | — 71 X - — _ _ Loy &

— l _ ( * X = —\/ ?

AROC o n _ + (o) - f(—;z) o —03:| ~[-2- (-2)3] I T Y-

[-2,0] 0 -c-a] Y - B o SEVE
L 9=Caas)_ o-¢q), - == [xo-2 | o | ox-acz
e | S0 s

Here are three consequences of the Mean Value Theorem:

Proof of Increasing Function Theorem:
Suppose f'(xz) > 0 on an interval I. We wish to

The Constant Function Theorem:

If f is differentiable on an interval I and the derivative show that f(a) < f(b) for any pair @ < b in I. Let
f'(x) =0 for all x € I, then f is constant on I. a and b be any pair of point in I satisfying a < b.

Then ) f(a)

— fla
L= _
Corollary: —a
If f and ¢ are differentiable on an interval I and for some ¢ satisfying a < ¢ < b. Now, f'(c) > 0
f'(x) = ¢'(x) for all z € I, then f — g is constant and so
 that is () = - £(b) - f(a)

on I; that is, f(z) = g(x) + ¢ where ¢ is a constant. . 0

so f(b) — f(a) > 0, since b — a > 0. Therefore,
f(a) < f(b). This argument works for any a < b

in I, therefore f(z) is increasing on the whole
If f is differentiable on an interval I and f'(z) > 0 interval.

for all points z € I, then f is increasing on 1.

Increasing/ Decreasing Function Theorem:

If f is differentiable on an interval I and f'(z) < 0 The Decreasing Function Theorem and Constant
for all points x € I, then f is decreasing on I. Function Theorem can be proved with similar ar-
guments.
x+4 . . . L .

Example 13:| Let f(z)= T Find the intervals over which the function is increasing.

7(‘/ G- (x+4) (1) _ x+4F-x-9 3 - e R

_ 2 = g X
. (X +%)2 (x+31" (%437 ronn M T Exeept x=-3

/\)0‘62:7(‘{3 Not C)Eﬁncd at x=-3

(OI’\S'G‘_O_\(_ueY\{'lﬁ] ]ru's ncreasing  on (—m,—?-)U(‘:P,m)

Example 14:| Find the largest interval or collection of intervals on which the function  f(t) = t* — 10t 49

1S iltcreasing. - - \ — The 7Cunc+ion )Ci s Increns in\ts
F0¢)- de3- 20¢ W il (-\/fo\u(\/},o@
Goa\:DC{crmiﬂe wWhene 463—0206 -;SNM -3 —
Note  Yi3__2p¢ = O Tt | 1€ | €5 [0 [ Tac/p..
(¢ 5)=0 __SI_ — - ——{Dromsing
R B R N B /=y
£ =0 £i=5" 67 | 5 T - N =y
¢ =45 | Trcremsing
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Example 15:| Find the largest value of A such that the function h(s) =

1

is increasing for all s

(s —9)4
in the interval (—oc-, A).
O 1O
erre————l
h(S) (S ‘-‘1) 3 ==
k(;) -q(s- q | Test _\ 3| Sion o -
\,-\ /s . j (5 q) \lalue 416 —C]') E:\,S){: LTne/TDec
s)= — ¢ i
o q\ l O — o —+ T _
, o /UcUerZero ncrecs ina
nes) - "'Ldﬁf"‘“’ O =1+ | = |Decreas
-9 ST | cas |
( ‘.[—I tica l- o q B S
A 5-4-9 Do he¢s) is ncreasinq on (-c0,9) which means A =9
> = C Paint
First derivative test for (local) maxima and minima: | If f has a critical valse at = ¢, then
e f has a local maximum at x = ¢ if the sign of f’ around ¢ is Tt AR
c
e f has a local minimum at x = ¢ if the sign of f’ around ¢is ~ _____ :+ Tt
c

critical nambers give rise to local maxima and which critical numbers give rise to local minima.

Po\rﬂ-s D { )
I elne
3(6]‘@ 3('6 5) b/EUrrgthe(&
= |x /é 5_) The«e 1S Ao C\'\c«rge_ m difect
SO Cr-\{;(ql_Pdiné wher\ 9— “ .,G > 'é"\efur\cﬁar\ IS C.ILAJG&S

£ -$=0 l | "~ CO“‘%L«M*‘

+S$ +5 est ~\ 2 AN o

&= 5 IIaluQ '3 | -57) 5%\:’\/{_)7(: Ine/Dec e

2 -+ —+ - In(reosfn
4= -+
, + __‘_Y\Cfeo\Sino\

decreasing. ?

De ined everawhere
50 C(,’f.’(ql?o'\ﬂﬁs tht’k _3

DOy B W
& -$)(er)(€-3)= o 53 s
't{-S_:O oy £+1=0 ar é -3=0 T656 _é -5 | | Slsn o}'\
s +¢ -1 -l +3 +3 Value €3 K 'ze) Inc/Dec
‘=3 €= €=3 — — — —
= | = - Decreqs\'na\
2 O t _ + I'ncreasir&
T =+ _ t + o J)&c(c@rino\
G + + - —+ InCrchTn;
J

"<(é§ s decreasina on. (—co,~) U (3,5)
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Example 16:| Suppose g(t) = 6(t — 5)* — 131. Find the critical numbers of g(¢). Then determine which

10\ S\.hC&

m Cleas| (\3

5({_ has Ao IOC&'

anr 'OCC.I m,‘(\;mG\

Example 17:| Suppose k'(t) = (t —5)(t + 1)(t — 3).  Find all intervals on which the function k(t) is

U N
/\ Max
) min

Chapter6.pdf (8/14)



d
Example 18:| Suppose = = (2241)(x—3)(z—1)(z+5). Find the z value in the interval [—5, 3] where
u(x) takes its maximum valugx Y -G O = 4
. D l'nCC) E\(t’lﬁu\nere 2 ]. — D \‘ o ll . AB>
- | =2

So (r{{.‘cql 'Poin-(g L,JhCY\.

, B [ ( 4 rS, r\of

6( +1) (x-3) (x -] (xt5)=0 \‘/ﬁi Pl | x-3 [ x-1 [x457| Gy | Ine/TRe
>(é+|:=o X-3=0 X-1=0 X+5 =0 —6 + — - - - & in f
— - +3 43 ERTREEE SRS aletl — - C(M—.S -

O —+ — + ~+  |Increosin
Xf-[ X=3 X = X==1r | |—— ‘ ' 7\
_J:YY\'POSS(.bIQ 2 (Q - — i T — :lscreasmi\' /

_SO (n (x) {c: l\’c +'s maximum o ,UQ \ < | + 1 -'_ M T Inc{e&gﬂj

Ot x=1| 6n £he nfervel -5, 57
cnd €his maxiprup \JOlb\Q 'S (Jk(l)

Example 19:| Suppose ¢'(z) =1+ :zr? + 2% Find the x values in the interval [-3, 4] where g(x) takes
its minimum. :-D€7Gnec) e veroy where.

SO Cr(ﬁ'CaIPom{S Lhene

| -+ X&*- xq: 0 d—Im’PQSS':He

& ol
Lot tom X2 jo Ao Critical points
Zhen LZ-= (Xa):{: X‘F J.Y'\][ac-l- Ngte )'(x)z |+x 24 x 1= I+uo/dw93a4-.ug:& >0
| + L,Lf.uzzd CoﬂSeq_uen-élbl fh& GUnctien s qhua:ss increqs}ng)w\q,‘ch
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= 1=-4=-3<0 Ao Real Solutions
Example 20:| Find the f value(s) in the interval (0, 00) where s(t) takes its minimum, given that
d 7 % | ot/2
/ < e =) _ <0 §(t) = —.
S )= df(fq) c ze®) W=7
-é/ | _é/& Conjeﬁueﬂflﬂ) {ha Cf‘\"é{Ccal Va‘vc5 aGyYye .é':o Gnc} -é:DZ
“.c %&— e .|
= -1 | 2
» £ 5 ! —o >
o e lae-1] 0 2
£ 2 Test ‘fé ' .
| L, 2 | s
/4 . Toints c z¢-l]< gr.\;f Tac/Dec
UH(;C)[\ch Gt 1_56;0
2ero ohen @ % [éf’ D‘—O O — + ‘ + - —ijecrcasmgs — \
€ — S :
) ?1/.1: a  ar &i{_ =0 - \ + + Decreafnn=o& v
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» |Curve sketching: Information on the first derivative can be used to help us sketch the graph of a

function. For example, the first derivative can be used to determine where a function is increasing and where

it is decreasing.

Example 21:| Find the intervals where the function f(z) = 2% — 322 + 1 is increasing and the ones

where it is decreasing. Use this information to sketch the graph of  f(z) = 2% — 322 4+ 1.+— A~ (nferce-]:é = (o)

f o} =~ [ - L\
[()(] = ?_)X - GK | 1 r. |‘y-->;l| c ‘*g'.l,“_"i..‘;-kii',""f;." LOCQ| Ma x @ X =) 07[ , 7[}&):&3_3 (J\‘Q_‘. | = %- I;.““I - -:)
So Criticel points  when Local min @ x=3 of -3
-\ | 1
3 x‘;— 6x =0 o—tf—a f—-p- —-

° A

\

Ax(x-2)\=0 ' .
( &\ Test SX X -2 31 Y:Of InC/DeC
+

i Val } ¥/‘|+\‘ —4
A% =0 or X-2=0 Qe (x)
x =Q tz 42 o= | — — T :
% 3 =2 | | T — — NCreas l‘“ﬁ' ""/HI
X=0 ;) L

+ |+ [+ o

Inc fFagino
» | Concavity: | We saw that the first derivative of a function gives us information about where the function

is increasing and decreasing. What graphical information, if any, can be obtained from the second derivative?
We begin with an informal discussion. Lets suppose y = f(z) is twice differentiable on the interval [a,b] and
further suppose f”(x) > 0 on the entire interval. Since the derivative of f’(x) is positve on [a, b], then f'(x) is
increasing on [a, b]. Now, f’(z) measures the steepness of the the graph of y = f(z). Since f’(x) is increasing,
then y = f(x) is gets steeper as x increases. Finally, increasing steepness of the graph should result in an

“upward bending” tendency of the graph.

Definition of Concavity:

Ne SG®ns
More formally, w=say y = f(z) is concave up on an interval I if, for any pair of points a < b in I, the secant

line through (a, f(a)) and (b, f(b)) lies above the graph of y = f(z) for a < x < b.
We say y = f(x) is concave down on an interval I if, for any pair of points @ < b in I, the secant line through

(a, f(a)) and (b, f(b)) lies below the graph of y = f(z) for a < = < b.

Using the above definition to verify that a function is concave up or concave down can be rather difficult. The

next two theorems provide easier methods for checking if a function is concave up or concave down.

Tangent line characterization of concavity: Suppose f(x) is differentiable on an interval [a, b].
e The graph of y = f(x) is concave up on |[a, b if and only if, for each a < xy < b, the graph of y = f(z)

lies above the tangent line at x = xy.

e The graph of y = f(x) is concave down on [a,b] if and only if, for each a < ¢ < b, the graph of
y = f(x) lies below the tangent line at z = xy.

Second derivative test for concavity: Suppose f(x) is twice differentiable on an interval [a, b].

e The graph of y = f(z) is concave up on [a, b if and only if f”(z) > 0 for all z in [a,b].

e The graph of y = f(z) is concave down on [a, b] if and only if f”(x) < 0 for all z in [a, b].
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a b X a b L
graph of function concave upward on |a, b] graph of function concave downward on |a, b]
A A
\
> >
secant line lies above concave up graph secant line lies below concave down graph
A A
¥ 7 -
tangent line lies below concave up graph tangent line lies above concave down graph
A ! A !
| |
| |
| |
| |
| |
|
| |
! |
| |
| |
| |
/ l = T .
graph with varying concavity graph with varying concavity
71
University Of Kentucky > Elementary Calculus and its 11/14 Chapter6.pdf (11/14)

Applications



Example 22:| Find the intervals over which the function f(z) = 2% — 62% + 1222 + 32 — 1 is concave

upward and the ones over which it is concave downward. —fes y) | Sian F
| | a ( ~ ) 1 (@]
=} . -1
7[_‘/ X ) = C} )\3- |8 X +2¢ X +3 X-2=0 ar Y = A Value ( - ) ”( x) COh Cave
I | 9 +9 4w O + — — +
Foa= 18360 424 Derned 2 2 SR s s | Upwero
= 12 (x3- Vergahere X =2 Gl L — | * | = [dunuerd
= |X Ax +o?) o s . = + + —+ ] ~ u?word
= 12 (x - 2)(x -1) —f—a -
/1 .v"'|":—" = '.—| 'L, /l‘u] N () ’«] - b \ ,’,'I'/. O pEs \ Q O n C ’ (A S ' O n .
| & - f_;:?'.‘j (x-1Y=0 Diwu de bi\ | 7{? x| is Concave uPword on (- o0 1) U(R, UO)

7[(\& 1S (Oncave downward OGN (|‘Q\

f \ -~ \ " — o
[ X — a-»"’" | [ X —|] = ( )

Inflection pbints: A point (¢, f(c)) on the graph is called a point of inflection if the graph of y = f(x)

changes concavity at x = ¢. That is, if the graph goes from concave up to concave down, or from concave down
to concave up. If (¢, f(c)) is a point of inflection on the graph of y = f(x) and if the second derivative is defined
at this point, then f”(c) = 0.

Thus, points of inflection on the graph of y = f(x) are found where either f”(z) = 0 or the second derivative is
not defined. However, if either f”(x) = 0 or the second derivative is not defined at a point, it is not necessarily

the case that the point is a point of inflection. Care must be taken.

Example 23:| If the derivative of the function g(z) is given by  ¢'(z) = 42? 4+ 122 + 15, determine the

interval(s) where g(x) is concave upward and the one(s) where it is concave downward. Find the z-coordinate

of the inflection point(s).

M, ‘ .
S (x)= Bx | o dDE)(mch e\/cﬁwhcra Test & | =) Sfan 07[
\ =Y {(2x+ 3) \olue X+3 3" o) C oncave.
l ) {"I cn * \ (X DO {" J ' A l [ . \ N - —
n . ‘ ) I.— .y I r - ! OfL Lareyy. _';)i Q + _ - (JOL:QY\(JQG (C} e ‘h .
-1 | & 5 4 _ n 0) "D Y d . L’J':S q N O 4+ + + [4 DL\JG P d — NQ hc\?\J-:z_
oo ‘ o -2 - Conclusion :
9. - _— - _%3 —> /cﬁ(x\ s concave dowinwerd on (—oo, _EBL)
- - 5 9 (x) is Concave uLpLIG rd on (‘53 . 06
=3, g (%) has apoint of infleckor. at x- = Since “he
Example 24:| Suppose f(z) = 2*. Determine the interval(s) where f(z) is concave upward and the one(s) \%
where it is concave downward. Find the z-coordinate of the inflection point(s). C ONncCauvié
N -é CL’IGY\ c\ﬁeg o+
@ = — -
= 7[( x)=x 1 =3

Qlodc.is concave prmcrcj
] Ao ']Doin{s o-F in‘FleCHOV\-

7[//><]: q x>

[ o
(x]: }o’Zx -0 S0 ;(5(5(5 concave u‘chch C)n/H‘j\

w\(\(cl'\ wecn S 14’16'(& 1S Ado Q\f\cnaa N COnCou{&i:B
S50 a6 ’Pomés 07[ injqeclﬂor\.

MNote: 4 '(0)=12 (Y 0 but x=0 is pot @ pont of inflection.
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Find the z-coordinate of the inflection points of the function g(z) = e~

Example 25:

=
l -X
(X\ = ~dx e A —r >
_xz z . . ‘(._C,‘ N CS{_ 9 - X 1 Sisnc{
=X ) . - _ e Conc
j” (X\: d;i (’o?x)' c + (‘ x) °a%/ﬂ ) X =0 or —‘ T (X - O \a lue Ll +x G () eevE
_ F | —| 1
-x2 - —+ +
X 2 I ossible L +
-~ - - X WrF l|—: - ' Va UPNGI’d .
02& - 02< - ‘o?)() e Powdel -/ \_ R —__ JE O —+ - —_ CJOL,Jn wchﬁ ¥
= de’ +4qxe —1 6 | '
2 —e—| o — Y = — C [ ' . . —
= =X ‘ X= 3 oOnciusion: x=|/1 .
e[ -1 2] I VL X=Vz end x=")[;
a I,'._
e €0 knoes when alfG) =0 53 ss X =2 \/[ 3 Are €he X-coofdinate e.][ o
/€ed €0 KNG wihen O] =5 -0.36%..  6.30%.. | Daind |
_;l ,_J_;.< [< //_ - 5 ‘l ) ’fAl ‘ 11 S O; lf\f’cd{cr\ be(C\b\j— e
XE  (Mredx ) =C €he con Cauitn Clﬂoh(y_r ot
Example 26:| Let h(z) = xe . Find the interval over which h(z) is cco)ncave do;)vnward. “he Points.

o

N'6)=Led -4 w-g(e™)  Need o ks when h'tr)=0  commmitp—
<

= .o X -x _ - X _
“le +x(-1e de “4xe =0 Tes¢ ] o _
= o - o B Sian ]
I ec) " [h(") e ["Q + x] =0 Value | & Ted tX 2/;(37[ Conceve.
n (Y\za)_((e-k)_at%(xe—x) . ‘ @) + ~ — c) -
= e_x x > € =0 o -Z+4x=0 > + ~+ ‘_'_\__Otonm\o”l}
= - I | 5 ;
- X Lji X_i ] T__mPaSSr ble 12 2 \J%
- TC& -e "+xe X=X o) e e e * ‘
= - % —x — X'/ 1s dondcave downwerd gn-ao, =y
T ~Le T+ xe  E— Detined everawiere (T L

Suppose p(x) = 23+ ax® + bxr +¢, for some unknown constants a, b, and ¢. Suppose p(x)

Example 27:
has a local minimum at p(3) = —8 and p(x) has an inflection point at = 1. Determine p(2).

oint and local minimumiconditions to first determine a, b, and c¢.)

Mote - =P (3)= 3°-3¢3)L 4(3)4 ¢

(Hint: Use the inflection

’P'(x): RxFrdoaxth g/
P )= Gx+ Ra Pllm:o —Y TRI-DIF - QAF+c
Y= "RFtC
?'(3):0 howcverpufl\fé(')*cQa: G+Re  BAG23=¢
=19

Noweue "(3)= - So haw 0=6+x
r, P (3= 3(3)-¢ (3) +b e Q—c, ¢ SOP(X):"S-SXQ—‘MHO]

- ;’21—)% - So Tl Xa SOP ) = 3x2_¢ x +b
So 6=A4b —s |, g 7 PCO)=x-3x% gy 4 é: ?3 P(Q}:‘Q -3(2)%5(2) +14
Example 28:| The graph of the derivative f’ of a function f is shown. Y =¥ - 12~ ¥+19=]— 3 J

(a) On what intervals is f increasing or decreasing?

(b) At what values of z does f have a local maximum or minimum?
(¢c) On what intervals is f concave upward or downward?

(d) State the xz-coordinate of the inflection points of f.
1.
foints o " ’ec+.’or\

ot XN=d, x=3 x=% %ktq— -

\S \r\Crecxs'\rlcS on (J, C) J (6/,005

J:I‘S C]CCI'GOLSW\Q an (_CUH)U{G/XB

locel Moximum at X =6
locel minimam at x=| and x=g

71: I's cOncave L«‘IDL/QCJCJ an (—m/Q} ) 63‘ S‘) ¢ (q,m>
7E 's concave downwsrd oM (3,3) U (5,3) 73
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